W32
SEER BRRIESEN

A& RIB
L5 47 TR s a—fT%ﬂ AR Av R AE At TR .o AT RUAR /Nl A RS 8% 5 314558 — 44 09 8 . BT B

Y43 B — 7 e Ko (H B TR 28 0 A B BE RS — 8 B KL B OB 5 U\ﬁﬂ‘ﬁ%%%’l—LiﬁifgﬁXﬁf\ ZE8i,C
1 WIS BA DA 0 S 2 B VRIS BA B 9 /IR AR S il 22 W S50AS W g BA B LD .

AZERID

% 47 X7 [ B SR Ar il v 4 BE B3 I [R] = A~ 4 3L e 4 30 1 ) 2 1) B AR W A L ) 2 1 = A B AR B 7 43 Bl 2
K TR I A SR, Dﬂ:ﬁﬁ- TR KRE ZRITE R F=ma #E5 W2k 0y, 02 B bR 567 ) i fy 5 5
DA T 8 &AW T SO AR, BRI B AR I T e 1 — S F I BRAL RS 2 [ B B e B
PRI C iR,

3. IERIC

(R4S 8 AR O~ WFIE] Y A5 [ T BN SEE A T RS L B 0 A B 0% 532 3l 5% 2 JT Bk Al A5 1) L A9 4
PRBE L AE O~z IRFIE] YSRGS 2 B i 98 IS 31, 800 B SO 5 18 3l B 7E ¢, I 7EZK T LB D & ﬁtﬁﬂ‘J\L?ﬂi

TR IR AL LRI C IE# 520 ~ 2 32 3 5 1] Wl B, 181 4 P AR 3R AE L 38 Bl 5 7E K T R R BE RN AR AR L R T
D %,
A& RIB

DR AR 3R F 7% (932 30 T 43 Wi B B 26 V8 IR G2 3, VS s 6 mu SRS IR R T 1.5 m B
0 MR 2 A RAF T I BE 2gh, = o VLR I B 19 1B JEE /N DR B 0 — o = — 2ahy » 3 R F
U6 32 B (0 /N R =40 m/s”, HUE B B IE .

AZERIC

AR 47 I W 1k 32 0 50 A7 AT 0 R 22 T 0y S 01 KO 1 F R BB 48 1 VR R T Ak - IR 25 K B 7 43 i
Ay B T AR T RS AR TR A A 40 7 o KR T A A% T A W ARV TE 7 R b T 99 J1 mgsin 0 5OKF 1 F
D4 T4 1 R M BEHE 1 K /NS T F 5 mgsin 0 B4 H7 .+ it LT 56 280 2004 % W 1A 32 5 9 B 452 ) K
INK VFEF (mgsin 7 =10 N, HA7 36 C 1F #.

AERIB

LA 47 1/ BR 3k A XX IR 7 7K S 97 18] L 5% 7K S 16 22 B0 i XT3+ R A0 20 50485 s A T 0 K S D 1) A
JEE T DL AE B XX K S D5 1 500 38 32 3 » i A%i%-/]\ﬂ%i_/\ffﬁ X B, 32 7 7 KT 16 22 19 S XS S R
FIH0 A BT A 1R 22 TR 5 BT LA E A KUK A5 72 il 452 B L BOIE B s N ER MBI R R, RAZ
{9 00 P o Bl 20 78 3 1 2232 501 2K S 7 1 A ) T L RAE B L i C LD R

JAERIC

LA A7 I 0l A ¥ 0 B 452 D 16 453 30 07 1) AR 5 0 R 45 42 36 45 22 (1) T A 22 3l e 3 s AR 3% T PR 4

5 P TTE AL R 5 5 0 A R IE B S HE 0= 20— g e 1 6 1 TF B 038 5 58 0

SRR 0= == 5 Rl £ m_w—7— ,ﬁk Pl -5 2 5 1] 3 5 448 PR RO K A i B

/N I COE s e P 5D S )l = — 2-L ,r}%ﬁ:a_%u BB 1 =040 :%Jrig,

v

KB B — 2 W PR 5 AR ] ) R 4 D RO J_Jf_ﬁﬂﬁlﬂi%” PETH D AR

PR 81 Gk 450

I




8. IERIA
LRZ A7 Xk SR 45 47 R 0 Lk A8 IR 5 BE 1, 8 5 05 W) 52 J) A A mg = g Foo XP 8RB ZEKSEJ7 1] | AR 38 4 46
TERA Fx=ma, B RWISREAT S BRI A F—p (M+m)g=M+m)a, B3 E F=
81 N. N gy = pn » T LA 220 7 5 S e 5 UK S A 4 o % B0 5 224 DR 43 00 )5, Bk Bk 2 i o B8 X 4k e 2
T AR AR TR pomg = may X MR 2 0y A AT AR R AR R 0 (M) g — pemg =
Ma, BB SRR 2 :2%1’ 45z 3 14 B A :%, MRS Y KB L= — 2, BT AR L=
0.6 m. HAFHEI A IEH.

9. [&FE]JABC
L#2 47 X4 DR UE /N BR AOT- M52 3l , RS BUIE R o ZE 0 /K 7 07 1), (A 308 R T B 00, B A TE 85 8 FRIE /D
BRAGUCOT- 032 Bl 1 7K P03 AR ] /N ER B T AR il — (8 B i R L BB IE s S TR O 9l
RAET L /N BRGE B 0 S 0 SR S Y 2 — 28 I H P I S B L ik C IE B LD AR

10. [ZFE]IBC
LA X el 18] A BT 4 09 3k B, W A Al 20 3k L 2k 5 3l okt B 0 A 2%, R T A AR 355 ol ) B i i
QRTINS B )y 1] Ay A ELIN 0 AN AR L B O A 5T i 4R i JLT“LH%:E*mﬂE%#E@E%%mﬂ%Sﬁ
ik, L%%ﬂ‘@’ibﬂn_ﬁ%’% Bl I B IE 5 & C R R BRJE — SR Y ELR RO B, R R o

JEE Sy B B4 ) AR TR kA2 Bl H I S R T S R Oy ) O £ (B LN R AR, 3B 00 C IE 5 B Bl D

T%ﬂ A B A L AR S R S B I N S L BRI D AR

1. [&EICD
LR YA B s Mz i m BB A F ik &5k G Rigkhi Jioh Fas GF
WA /NNy Fo B RAS R B A8 o Fy L % i = f B W BT 7R - K2R A
A LR G Y (S Fo s = U S & N V5 E A R N 1V D DR - N (U E A
5K M e f o A5 /N BERLZE KR L, W) RS B Hb T 75 R h= Lsin o, W] K %
PR Ml T ) 7R R A D it CD.

12.[&X]IBC
A% A7 IR 470 38 35 43 o 0 A} TS 7 o) RS AT AR TED 7 1], 2 AT 7 ] v, = o sin B SPATRMVEN T W) vy =

wycos .3 FLAYTH B I FE @ = goos an AT RHE BN EE a) = gsin a. 7625 # R AT R ] 0= ”"235 v,

JRLL PLQTEZ M RATHIRT A Z L 1+ 2,80 A SR s /N ERIY 275 s:'v//ZﬂL%a//lz AR ay =gsinastp ¢ tg

P2, A s, =4yl D RS IR 8RS R 09 Y E U E tm&—%,éﬁ% tp P tq=1%2
vocos Bt gsina * t

AR vq Jr ) 5 RHIHT Y e F— B 45 T op J5 10 5 RVIETEY JE A1 80 B IE R 5 4545 B LI 47 L 5 B O 1) A0 ] L 3

AR TSP AT AR T Y JxZHﬁﬂJj‘] 1 2, M AR B 0 B AT v — 2T 20p -l C IEH.
13. [ZEZEY(1)AB2 4y, /D3R 1 4, 4535 A BERS 0 43)

(2)200(2 43)

(3)2.76(2.73~2.79 ¥J7],2 43

K A LD 55 S A Ao e S B H ) 3 PR BE L 70 DU o 5 e 450K T A GE i s B 4 Jﬁ%ﬂ’dﬁ‘&‘éﬁﬁ
B AL F7 AR UE S A T 0 B T B B B ) DR/ S T R A L A T T A I A

B IE A 5 58 38 A9 4 R A 45 T 3 A Ao B e i A8 T N 0 R e 2 I L B T C A R 5 R T R — A i
o LA ) 5 R L 5 B 5B AR B R L B I D SR

(M F=rkea FTHI L FEHR BRI/ T 20 B R B/ i R OR B0 R B =200 N/mj

(IREHTE 2.7 5 2.8 Z | A1)y 2. 76 N.

P 2 Wk 4 )



14.

16.

[ZZ=)(DCG 4
(55— 255) f*
(D=5 =G
b
(3);(3 43
[AR A7 (1) 5256 v g A5 R & ) e T 32 B9 0 A 75 5 1 R S 0 4 0 R RO A ) R B L e T A BB IR AR

SEH A F AR I i A B 5 5T () B9 2l B 5 R R BT LR REEAT B 0 AN S L BB T B R W PR IT AT T
i o S B YR FERE R B AT ) — AR AR TR IR T S ) AR S BN B B T CIE R SC 8 A ) 1R AR
Y Y 3Z WD D RIS AR B4 BT R N B T R B B L T D k.

_ (ot asta) — (gt o +a0)

QM BT A 5 A& AEH, 8 T= .,EIJ ZEE A a 972

25/

324
M 1
2

— M 1 7 /
(3R W AR AP A0 Sk 2F — Mg = Ma B F= et Mg = S oM = b fif 18 o= .

5. [8E1 g <2>/e<f‘>" (jz k<’*L )

mg

[#E#I(DB H‘Jﬁﬂiif;‘%azﬁfg (39

(A o4 5 HE S MBS PR P I o = (149

B A EIP B A ] kL = - o1 = %% (245

O T ARIETE [ A7 18 Bl B AR AE L D e <en (1)

fif 75 k<;% (149

(e LR

v

[Z%E)1(1D0.04N (2)0.4s 0.6m

R YCD ARERTE bc B LVR SR, 25 1 5 % 5 ) 32 £ 2

~ ‘l\'}‘«\.
QYI‘C/O

245

sin =

U T M ARG % S ] £3 2Fcos 0=mg (2 43)
B8 F=0.04 N (149
(2)Gd a3z sl nl LU Sk 5 B4z 3, R SF- 3l %0 3 mp

KFI A =0 5 (15D
AT v, =g 5 (14
dﬁﬁﬁzmmﬁm%ﬁﬁﬁmmf=% (249

N h= lg(i)i 14
eSS 1=0.4s,5=0.6m (243)

P 83 WGk 4 )



17. [&£Y(1)3 m/s
9.5 NAf,2=(2F—17) m

2m/s* (2)2s

0.5 kg

(3)Y F<8NH}.2=0; 4 §N<F<9.5 N i} ,.x=2m; Y4 F>

CEEMT YD A 2 AR A X A pamg =man (143

et ax=3 m/s* (143

X BA ppmg=mas (14

%ﬁ%al;ZZm/Sz (16})

) RYE R B AT F RS KA A LB s B e 2 . B) A B ¥#AXT C 1 3, AR5 B 8] 18 2 0 2
th iz gh 2 A T 15 ;a/\lg*%aﬂtS:L 14

g ,=2s (15

XK AC 5 B =M 8, A REAH

a4
a4

F—4ucmg=4may

f#ts m=0.5 kg

LA BRI 2 F=8 NL W B 5 C 18 4 2 AR MUK 3 3 A

OMIPEE Y F8 N Hf.2=0 (14)

& AB.C ¥ KLY BRI R Fo WA
Fy —4pcmg — pamg — ppmg =2may (143
s F=9.5N (149

MY N<F<9. 5N ,z=L=2m (14

M F>9.5 N, F—4pcmg — pamg

HB B F AR o= ol Wit TS

rp =4 m

1(‘/: up/tﬁ (1ﬁ'})

1
2
(14

B x=Q2F—17) m

’
I=Xc — XB

(14

MY F<8N A, 2=0;Y 8 N<F<L9.5 Nif,a=2m;¥ F>9.5 N}, »=(2F—17) m

LY/BL

. ’
—ppmg = 2mac

(14

W)y 20 =2 s, U0 A5 A 388 )

(14



